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I. Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and write the

complete answer along with its letter of alphabet. 8x1=8

1. Diwani Adalat in Civil Court was established by

(A) Cornwallis (B) Warren Hastings

(C) Wellesley (D) Dalhousie

2. The main reason for Second Anglo-Mysore War is

(A) the British captured Mahe

(B) the British broke the conditions of Srirangapatna treaty

(C) the British captured Karwar and Coimbatore

A

(D) the British broke the conditions of Mangalore treaty
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3. The Indian foreign policy was formed by

(A) Sardar Vallabhbhai Patel

(B) Dr. B. R. Ambedkar

(C) Motilal Nehru

(D) Jawaharlal Nehru

4. The oldest port of India is

(A) Vishakhapatnam

(B) Marmagao

(C) Chennai

(D) New Mangalore
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S. The significance of the Article 17th of the Constitution is

(A)

(B)

(€)

(D)

Prohibition of child labour

Eradication of untouchability

Eradication of illiteracy

Prohibition of dowry

6. The leader of the Narmada Bachao Andolan is

(A)

(B)

(€)

(D)

Medha Patkar

Sundarlal Bahuguna

Dr. Shivaram Karanth

Shyamaji Krishnavarma
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“The true development of India is the development of its

villages.” This was told by

(A) Amartya Sen (B) Mahatma Gandhi

(C) Dadabhai Naoroji (D) C.R.Das

Ramesh has a five year old daughter. He decided to save money

to his daughter’s wedding in future. The best suitable bank

account is

(A) Savings Account

(B) Current Account

(C) Recurring Deposit Account

(D) Term Deposit Account
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II.

Answer the following questions in a sentence each : 8x1=8

10.

11.

12.

13.

14.

15.

16.

Who wrote the book ‘Satyartha Prakasha’?

Why did Francisco de Almeida implement Blue Water policy ?

How is Social Stratification formed ?

What is Communalism ?

Mumbai is known as the Manchester of India. Why ?

Why will be the temperature high during March and May in

India ?

What is meant by ‘Decentralisation of power’ ?

Why is Reserve Bank of India called Bankers’ Bank ?
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III.

Answer the following questions in two to four sentences / points

each : 8x2=16

17. What are the objectives of Indian foreign policy ?

OR

What are the causes of unemployment ?

18. Explain the Appiko Movement.

OR

Explain the different forms of Social Stratification.

19. What were the causes of First Anglo-Maratha War ?

20. How was Junagadh merged with Indian Union ?

21. Soil erosion is increasing in recent years. Why ?
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<

22.

23.

24.

Irrigation is very essential in India. Why ?

‘Per capita income cannot be a true measure of Nation’s

development.” Why ?

March 15th of every year is celebrated as the World Consumers’

Day. Why ?

Answer the following questions in six sentences / points each :

25.

[=
I
x

[

9 x 3 =127

The name of Sangolli Rayanna has remained famous along with

the name of Rani Chennamma. How ?

OR

The role of Raja Rammohan Roy in reforming Indian society is

memorable. Justify.
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26.

27.

28.

29.

30.

List out the types of Agriculture followed in India.

OR

List out the Industrial zones of India.

The Panchayat Raj institutions play an important role in the

rural development. Substantiate.

OR

Women self help groups are supportive to women’s

empowerment. Justify.

What are the functions of banks ?

OR

What are the characteristics of banks ?

What were the main programs of the Non-cooperation

movement ?

What were the causes for the discovery of a new sea route to

India ?
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31. Russia has supported India in many situations. How ?

32. What are the facilities available for the organized sector

labourers ?

33. Explain the methods of conservation of forests.

Answer the following questions in about eight sentences / points

each : 4x4=16

34. Explain the role of extremists in the freedom struggle of India.

OR

Explain the effects of British education in India.

35. The First War of Indian independence failed due to various

reasons. Justify.

36. Which are the measures taken by the government to improve the

status of women ?

37. Mention the causes for earthquake and its effects.
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VI.

38. Draw an outline map of India and mark the following :

1+4=5

b) Konkan Coast

C) Hirakud project

d) Amritsar.

Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38)

Mention the main objectives of the multipurpose river valley projects.
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